Cabinet mount Whale LED Light

05KD01-00A

No. Part number Name Number | Remark
1 |8027082A DL-5 light arm 1
2 8020848A M8*20 Stainless steel screw 4
3 8027085A DL-5¢@42x@35 flat pad 1
4 8027076A DL-5-light support pillar 1
5 8027073A DL-5 light power supply 1
6 8015226B 24V 30VA transformer 1
7 8027079A DL-5 light power supply cover 1
8 8016762A M4*6 Stainless steel screw 3
9 8024247A M6*25 Stainless steel screw 4
10 |8005587A Gray four-channel plastic terminal with fixing lug 2
11  [8013801A M6*8 set bolt (black) 4
12 |8020617A Ammber led light 1
13 |8011491A glass cuspidor silicone decoration cover 2
14 |8017794A 350 light installation rod 1
15 [8022177A M4*12 Stainless steel screw 2
16 |8023533A ceiling light balance arm fixed seat seal board 1
17 |8023530A ceiling light balance arm fixed seat 1
18 [8001738A M6*16 Stainless steel screw 2




